188/Chem. UG/1st Sem/CHEM-H-GE-T-01/20 c)  Write down the electronic configuration of Cu

and Cr®".
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CHEMISTRY g
[HONOURS] d) Indicate the state of hybridisation of each carbon
Generic Elective Course (GE) atoms of the following compound:
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The figures in the right-hand margin indicate marks. CH,-CH=C=CH,

Candidates are required to give their answers in their ) . .
e) Suggest a chemical test to distinguish

own words as far as practicable. .
chlorobenzene from benzyl chloride.

1. Answer any five from the following: 2x5=10 o
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a)  lonic radii of CI® ions is larger than that of K™ f)  State and explain Saytzev’s rule.

ion although both the ions are isoelectronic
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g) Acetylene forms silver acetylide but ethylene

— Explain.
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b) Arrange the following elements in the

does not form silver compound. Explain.
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increasing order of electron affinity with

reason: 2. Answer any two from the following: 5x2=10
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(S T SRPAICE e ¢ a) 1) Arrange the following in increasing order
F, Cl, Br of stability with explanation: 2
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i1)  Write the significance of Azimuthal

quantum number and Magnetic quantum

number. 14x2
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How does ionization potential vary along a
period in the periodic table? Why? Between ‘N’
and ‘O’ which have higher ionization potential
and why? 1+2+2
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Carry out the following conversions (any two):
21x2
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1) H3C‘-g=(‘H1 CH;CH,CH,0H

. e H,C-C=C-CH
H;C-C=C-CH 3 3

11) 3C-CFGCH;

iil) H,C=CH, HOH,C-CH,0H
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Answer any two from the following:

10x2=20
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3.
a)
b)
188/Chem.

i)

ii)

iii)

Balance the following equations by

oxidation number method: 2
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H,0, + FeSO, + H,S0, = Fe (SO,), + H,0

Balance the following equations by ion

electron method: 2
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CuS +HNO, = Cu(NO,), + NO+S+H,0

State and explain Pauli’s exclusion

principle with an example. 3
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Write a short note on Hard and Soft Acid
and Base principle (HSAB Principle). 3
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What do you mean by levelling effect of a

solvent? Explain the statement “Acetic
acid exerts less levelling effect on the

strengths of acids than water.” 2+2
(4)



iii)

TR levelling effect Ice & (@R 2
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Give an example of redox indicator. 1

9o wg7-f9E199 (redox indicator.)
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Determine R/S-configuration of each
chiral centre of the following compound:
2

T3 @617 afefb chiral centre-93
R/S-configuration fasfat &4 ¢

H——OH
H——0OH
CH,OH

Carryout the following conversions (give
only name of the reagent): 11x2
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HC H
H;C-C=C-CH;
H
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CH;
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iii)

Draw the Fischer and Newman projection
formula of ‘Threo -3-bromo-2-butanol’.
13x2

“Threo -3-bromo-2-butanol’-937 Fig @2
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Which of the following compounds will
prefer SN! reaction and why? 2

A= I @96 SN Rl siew 23 @2k
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CH,CH,Br, (CH,),Br, CH,CH,I

Write down mechanism of the following

reaction: 2

=N o = -
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CH, + Ch b

CH;C1 + HCl
(Sunlight)

What is the necessary condition for the

optical activity of organic compound? 1
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52
Define diastereomer with example. 2
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